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b Lo il s 1 padl

1/ 5(+/3+x) 10/ 3x+1)2
2 11/ (5+4x)?
2/ = (7x-2)
V7 12/ (2 +8x)
J11(x-245) 13/ (3x-1)2
4 X3y -x3+1) 14/ (V5 - 4x)2
5/ (X+\/§)(3X+\/§) 15/ (7x -5y)
6/ (ﬁx-%)(7+4x) 16/ (224 5-3x)?
7 R-1)6-3%) 17/ (5a2-5b+2)?
8/ (+/5x +1)(3y+1-3x) 18/ (x-3)(x +3)
; 19/ (11a-15b)(11a+15b)
9/ (2y—Zx+1)(1—4x)

20/ (a2 ++/6 - 20b)(a2++/6 +20b)

canly ey Jaill (S St 1203 el

1/ x+....=x(1+3x) 4/ (5-.. )2 =.....-20x +.....
2/5(..4+2)=15x+10 5/(3-..)(...+a)=9-2a?
3/(3x+...)2=9x2+....+1 6/(oec+..)(r- ) =25 - X2
""""""""" 1/ oo m ) ) 4x2- .
8/(5“' R rard 12/(\/_p+....)2= ....... o +m?;
9 (evve b 2= 0,01 62+ 0,2bc + 2 13/ (.o -2 2=5- ... Foe ;
10/ ...... +%)2:%x2+ ....... + oo 4Gt )l - ) =22 -2,

1/3x+6 7/ 49x2-14x +1 12/ 2 - 8xy + 162
2/5-15x 8/ x2-8 P+ 0.2+ 0.0]
3/ x24+3x 9/ 64n2-25+8n-5 RS TERET
4/ 81x2+27x-30xy 10/s2-4+(s+2) 15/ 1622 - @Hi_g
5/x+1+(x+1D)(3x+4) 117 2 210 +121 16/ -12x + 422 +9.
6/ x2+8x+16 121 D
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Péua 4y daeibya sx
a=x'+2(x-1f +4x -1
b=x"—2(x+1) +4x +3
b satus 5l ]

.bsade 2
.a-bdee 3 )

4 el
(Jrexdll 5 pall) @kl ey sl

E =1022 ;F=10112
G =301,495x97 +301,495x3
H =(-989)2 ; 1=9995x10005

J =5234972 - 523495 x 523499

17 Cpoall)
O plaey 9 X
, Gl pe B g gana g2 2x242y2+] @ o) O

Clanaad o glhagll

O
sl vy ]
n’— (n —1)(n +1)

. b maia 2e
O | TN )

K = 978532910 2 — 978532909 x 978532911
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